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FOREWORD

The National Examinations Council of Tanzania (NECTA) is delighted to
issue the Candidates’ Items Response Analysis (CIRA) report for the
Certificate of Secondary Education Examination (CSEE), which was done
in November, 2023. The report has been prepared to serve as feedback to
education administrators, school managers, teachers, candidates and other
education stakeholders on the performance of candidates in the examination
of Literature in English subject.

The report provides a comprehensive analysis of the candidates’ responses
on each question based on their performance. It illuminates the factors that
contributed to the achievements of the candidates who excelled in this
examination as well as the challenges that candidates encountered in
attempting the questions. This analysis justifies that, candidates who scored
high marks in different items tested in this examination had good mastery
of subject content and demonstrated the required competences. It is
likewise a reflection that, such candidates had an in-depth understanding
and adequate knowledge of literature and literary readings; namely,
novels/short stories, plays and poetry as well as different literary concepts,
assumptions and theories.

Moreover, there were candidates whose responses on the items of the
examination were partial. Their performance was categorised as average
due to moderate quality of the responses they provided. In addition, the
report shows that there were candidates who got low scores/marks in some
items of different questions and their overall subject performance was
consequently unsatisfactory. The performance of such candidates was
categorised as weak, following their inability to exhibit the expected
competences, knowledge and mastery of the subject matter in their
responses.



The National Examinations Council of Tanzania (NECTA) expects that, all
education stakeholders will use this report, to improve the teaching and
learning of the Literature in English subject for performance improvement
in future.

Finally, NECTA would like to appreciate the contribution of all who
participated in the preparation of this report in different capacities.

Dr. Said Ally Mohamed
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report provides the analysis of the performance of the candidates who
sat for the 024 Literature in English subject for the Certificate of Secondary
Education Examination (CSEE), which was done in November, 2023. The
Literature in English examination of 2023 was set in accordance to the new
format issued in February, 2019 which aims at testing candidates’
competence and ability to use the knowledge gained in the classroom in
real life situations. As stated in the format, the 2023 Literature in English
examination was organized in three (3) sections: A, B and C comprised ten
(10) questions.

Section A consisted of two compulsory objective questions; questions 1
and 2. Question 1 had a total of 10 marks and Question 2 had a total of 06
marks. Section B consisted of six (6) short answer questions; questions 3, 4,
5, 6, 7 and 8. Each question in this section weighed 09 marks which made
this section have a total of 54 marks. Candidates were required to answer
all questions in this section. Section C consisted of three (3) questions.
These were questions 9, 10, and 11. Candidates were required to attempt
only two (2) questions, of which question nine (9) was compulsory. Each
question was worth 15 marks. Hence, section C had a total weight of 30
marks.

This report provides a detailed analysis supported with figures and extracts
based on the candidates’ performance on each question. The analysis shows
the percentage of performance at three categories, namely good (65-100%),
average (30-64%) and weak (0-29%). In the figures, three colours have
been used to clarify the performance analysis whereby green indicates good
performance, yellow stands for average performance and red indicates
weak performance. Additionally, the analysis of the candidates’
performance in all questions is accompanied by extracts that serve as pieces
of evidence to show how the candidates responded with respect to three
categories of the performance percentage.

A total of 115,401 candidates sat for the CSEE 2023 Literature in English
examination. Among them, 91,019 which was equivalent to 79.34 per cent
passed the examination with different grades. This indicates that the
performance was lower in 2023 than in 2022, whereby 80.06 per cent of
candidates passed with different grades in 2022 as shown in Table 1.
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Table 1: Comparison of candidates’ grades in CSEE between
2022 and 2023

Year | Sat for | Percentage Percentage
exam | of passed | Performance grades (%) of failed
(%) (%)
A B C D F

2022 | 109,471 80.06 1.28 | 5.03 | 35.07 | 37.03 19.09

2023 | 115,401 79.34 0.87 | 5.00 | 36.28 | 37.31 20.54

Table 1 shows that in 2023 the performance decreased by 0.72 per cent as
compared to 2022. The number of candidates who had grade F increased by
1.45%

ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

SECTION A: MULTIPLE CHOICE AND MATCHING ITEMS

The section consisted of two compulsory objective questions. Question 1
was a multiple choice question which consisted of ten (10) items. Each item
was worth one (01) respectively to make a total of 10 marks for the whole
question. However, there were candidates who recognized that item (i) had
no correct option. They answered it by writing a word which was supposed
to be one among the choices as the correct answer. Question 2 was a
matching items question. It had six items. Each correct item carried 1 mark
making a total of six (06) marks in the question. The whole section was
worth sixteen (16) marks.

1.1.1 Question 1: Multiple Choice Items

The question intended to assess the candidates’ ability to remember, apply,
analyse and evaluate information covered in the study of Literature. The
candidates were instructed to choose the correct answer from the given
alternatives and write its letter beside the item number in the answer
booklets provided. The question comprised 10 items numbered (i) — (X)
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where each item had 5 alternatives lettered A-E. Among the 5 alternatives,
one was a correct answer to the item while the rest were distractors.

This question was attempted by 11,5401 candidates which was equivalent
to 100 per cent of all candidates. The candidates who scored 7 to 10 marks
were 51.51 per cent, which was good performance. On the other hand,
43.66 per cent of the candidates scored 3 to 6 marks which was categorised
as average performance. Lastly, the candidates who scored 0 to 2.5 marks
were 4.83 per cent. Their performance was categorised as weak.

Consequently, the general performance on this question was good because
95.17 per cent of the candidates scored 3 to 10 marks. Figure 1 illustrates
the general performance of the candidates on Question 1.
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Figure 1: The Performance of Candidates on Question 1

Item (i) of question number 1 tested candidates’ ability to name the term
that refers to a brief description of a book written at the back of it. The
question read as follows:

A brief description about a book that is written at the back for
promotion purposes is called

A Preface B Prelude C Acknowledgement

D Autobiography E Bibliography
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There was no correct answer option in this item among the choices given.
Choice A, Preface was incorrect because a preface is normally written at
the beginning of the book not intended to promote it but to brief the reader
on what it is about or why it was written. Similarly, choice B, Prelude was
incorrect because it is a part of a book which prepares a reader for further
important incidents in it; and it is normally found on the opening pages of a
book for promotion.

Additionally, choice C, Acknowledgement was as well incorrect because an
acknowledgement is normally written at the front pages of the book not at
the end. An acknowledgements are meant to appreciate the contribution or
inputs of all those who participated in the writing of the book by the author.

Moreover, option D, Autobiography, was not a correct response because an
autobiography is an account of someone’s life records or history written by
an individual himself or herself. It comprises the entire life events and
experiences a person from the past to date. It is normally written and
published as a book not as a part or section in a book.

Also, choice E, Bibliography was not correct because bibliography is a list
of sources or references a writer of a book has consulted when preparing
his/her academic material such as a book. A bibliography appears on the
last page of the book whose aim is to redirect the reader where the details
of the same or related material found in the book can be obtained. Thus,
this option was not worth for selection. The correct response for this item
was supposed to be blurb which is a brief description about a book that is
written at the back for the purpose of promoting or marketing it. A blurb
normally appears at the back cover of a book below the author’s profile so
as to attract the readers to either buy or read it.

Item (ii) of this question required the candidates to name the situation when
some characters are speaking in turn in the literary work. The question read
as follows:

The situation when some characters are speaking in turn in the literary

work is called
A Dialogue B Soliloquy C Monologue
D Aside E Irony
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The correct choice for this item was A, Dialogue. Candidates who chose it
were knowledgeable enough to realize that dialogue involves the
conversation between two or more characters in a work of art which is
commonly employed in plays or drama.

Choice B, Soliloquy was not a correct choice for this item because it refers
to a long speech that is produced by a character when alone on the stage to
reveal his/her deep feelings. It does not involve characters speaking to each
other in turn.

Choice C, Monologue was incorrect because it is a speech made by one
character and it barely involves a reply. Monologue is a common narration
style used in novels.

In addition, choice D, aside was incorrect because aside is a dramatic
technique which involves direct-address of a character on the stage to the
audience without being noticed by other fellow characters.

Choice E, Irony was also an incorrect option because it does not refer to the
characters’ speech. It is rather a literary device which ridicules people by
saying something that means the opposite. Consequently, candidates who
chose incorrect options did not have extensive knowledge of a wide range
of literary devices which would have helped them to differentiate them
from other literary concepts.

Item (iii) required candidates to identify a literary device which referred to
a given expression. The question reads.

Which literary device refers to the expression, “Mtimkavu is a lion”?

A Symbolism B Simile C Apostrophe

D Metaphor E Synecdoche

Choice D, Metaphor was the correct option. Candidates who chose it
demonstrated ability to understand that metaphor compares two unlike
things, objects, ideas or people possessing related features or traits without
using linking words commonly known as conjunctions. It occurs when one
thing names something else directly to suggest similarity or analogy
between them.



Conversely, option A, Symbolism was not a correct option because
symbolism involves the use of a word or object in a literary work to
represent another concept or idea.

Similarly, option B, Simile was incorrect because it compares two unlike
things or objects by using conjunctions such as ‘like’, ‘as’ and ‘as....as.’
The candidates who opted for this response were not knowledgeable about
the functions of ‘similes’ and ‘metaphor’ in literature.

Additionally, option C, Apostrophe was incorrect as it refers to a literary
device that involves the direct address by a character to a dead person or
non-human objects to express deep feelings of a person.

Choice E, Synecdoche was equally incorrect because it involves the use of
words to make the part represent the whole and the whole for the part.
Thus, the candidates who chose incorrect options lacked the mastery of
literary concepts.

Item (iv) of this question assessed candidates’ knowledge of the plot of a
novel. The question read as follows:

How is the plot of the novel Concubine by Elechi Amadi arranged?

A Flashback style B Chronological order C Mixed style

D Flashback-forward E Fore-flashback

Alternative B, Chronological order was the correct option because in this
style of narration, the events flow in successive sequence from the
beginning to the end of the story. Candidates who chose this alternative
were competent and knowledgeable enough to understand that the novel
The Concubine is in chronological order of events in which events are
presented starting with those that took place at the beginning followed by
those that occurred at the end. On the other hand, alternative A, Flashback
style was not correct because this style involves the interruption of the
serial flow of events by giving a hint of what happened earlier in the story
to describe current events.

Similarly, alternative C, mixed style was incorrect because it is a style of

narration in which the incidents are arranged in a disorderly manner such

that the last event is seen at the beginning of the story and the first at the

end. Also, the alternatives D, Flashback —forward and E, Fore-flashback
6



were not plausible designs of plot of the novel, The Concubine. Hence the
candidates who opted for incorrect responses were not competent enough to
identify the plot of the novel, The Concubine.

Item (v) of this question required candidates to identify the type of poetry
which is composed to be sung for a dead person. It read as follows:

Identify the type of poetry which is composed to be sung for a dead

person.
A Didactic poem B Epic poetry C Ode poetry
D Elergy poetry E Sonnet poetry

Option D, Elegy was the correct response for this item. Candidates who
chose it demonstrated adequate knowledge of various kinds of poetry. They
understood that an elegy is a poem which is composed and sung for
commemoration of a dead person. Such poems express deep feelings of a
poet/poetess about loss. On the contrary, choice A, ‘Didactic poem’ was
incorrect because this kind of poetry gives instructions to readers/society
members by telling them what to do when crises especially political ones
face them. Also, choice B, Epic poetry was not correct because this kind of
poetry presents detailed heroic deeds and characters for praise.
Furthermore, choice C, Ode poetry was incorrect because ode poems are
composed and sung to celebrate happy events such as weddings,
graduations, send-off parties and games. Moreover, option E, Sonnet poetry
was as well not a correct choice because sonnets evoke very strong feelings
of a persona, be it sad or happy feelings. Candidates who selected incorrect
responses lacked the knowledge of poetry.

In item (vi); the candidates were required to name an expression which
refers to a person who writes plays. The question reads.
Matundwe is a literary artist who composes plays. How is he called?
A A comedian B An autobiographer C A playwright
D A biographer E A novelist

In this item, the correct response was C, A playwright since it is the
playwright who composes plays before they are acted. Candidates who
selected it showed adequate knowledge of identifying titles of different
literary artists. Conversely, alternative A, A comedian was incorrect

7



because the term refers to an artist who performs before the audience for
the purpose of evoking laughter. Moreover, choice B, ‘An autobiographer’
was not a suitable option for this item because an autobiography is not a
play but a prose narrative written by an individual as an account of his/her
own life and experiences. Candidates who opted for this alternative were
not knowledgeable about the differences between an autobiography and a
play. Furthermore, alternative D, A biographer was incorrect because it
refers to a person who writes about the events, history and experiences of
another person for publicity. Choice E, A novelist was also not a correct
option for this item because it refers to an artist who writes novels.

Item (vii) required candidates to identify a figure of speech which enables a
reader to form a mental picture. It read:

Identify the figure of speech which enables a reader to form a mental
picture.

A Simile B Personification C Imagery

D Hyperbole E Allusion

The correct option for this item was C, Imagery. It refers to a figure of
speech in which the readers or hearers of a work of art form pictures in
their mind due to the use of appealing words or expressions. However,
option A, Simile was incorrect because, simile as a literary device is used in
making comparison between two unlike objects or things using a
conjunction. Likewise, option B, Personification was not correct because
personification is a literary technique that writers use by attributing human
qualities/traits to non-human objects or things. Similarly, option D,
Hyperbole was also not a correct choice for this item. Hyperbole refers to
an expression that is used for making an idea clear to the audience through
purposeful exaggeration of facts to make it more serious than the reality.
Furthermore, choice E, Allusion was not a correct are as it is a literary
device which literary artists employ to suit their works by making reference
to a famous person or object for explanatory reasons. For instance, most
literary writers make allusions from Holy Scriptures particularly the Bible.

Item (viii) required candidates to identify a literary term which is used to
denote a female artist who composes poems. It read:



Which literary term is used to denote a female artist who composes

poems?
A Poet B Singer C Poetess
D Novella E Playwright

Option C, Poetess, was the correct answer for this item. Candidates who
chose it had enough knowledge of poetic terms. They knew that a ‘poetess’
is a female artist who composes/writes poems. Conversely, option A, Poet
was incorrect response because the term poet refers to a male artist whose
work is to write poems. In the same way, option B, Singer, was an incorrect
choice because it is a general term which refers to both male and female
artists who sing or perform songs on stage. Similarly, option D, ‘Novella’
was also not a correct option because a novella is a literally material
composed for the purpose of being read. It does not mean a person or an
artist of any literary genre. Furthermore, candidates who opted for E,
Playwright chose an incorrect option because a playwright is an artist who
writes plays.

Item (ix) tested candidates’ ability to identify the type of oral literature that
involves telling a short story about an interesting or amusing person or
event. The question read as follows:

Which type of oral literature involves telling a short story about an
interesting or amusing person or event?

A Anecdote B Folk tale C Parable

D Fable E Myth

In this item the correct response was A, Anecdote. Candidates who chose
this option demonstrated good understanding of the genres of oral
literature. Such candidates were aware that anecdotes are short stories told
about an interesting or amusing event or person. These stories are narrated
for the purpose of entertaining the audience meanwhile conveying
important lessons. On the contrary, choice B, Folk tale was incorrect
because folk tales are wide-ranging tales covering a variety of incidents not
specifically about amusing events or people. Also, choice C, Parable was
not a correct choice because a parable is a short story fetched from biblical
scriptures intended to teach morals to the audience. The candidates who
chose this option might have confused the features of parables with those of
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anecdotes. Similarly, option D, Fable was not correct because a fable is a
short story that uses animal characters to convey morals to the audience.
Moreover, option E, Myth was not a correct choice for this item. Those who
selected it were not knowledgeable that myths are short stories which talk
about supernatural events which are believed to exist or not. Myths also
talk about the origin of things like births, deaths and communities.

Item (x) required candidates to identify a literary term that describes a
situation where a concept or idea entails making reference to events,
persons or objects that are common or familiar to the readers. The question
read as follows:

Which literary term describes a situation where a concept or idea
entails making reference to events, persons or objects the
audience/readers are familiar with?

A Off stage voice B Allusion C Metonymy

D Personification E Aside

The correct answer for this item was B, Allusion. Candidates who opted for
this choice had good understanding of the meaning of allusion and how it is
achieved in literary materials. They knew that allusion involves making
reference to a famous person or object for clarification or emphatic
purposes. On the other hand, option A, Off-stage voice was not a correct
choice because it is a dramatic technique which is not actually about
reference making. It is a voice (sometimes musical sounds) heard behind
the stage to the side of the audience during the performance such that the
audience hears them but do not know/see where they are produced from. In
addition, option C, Metonymy, was incorrect because it refers to something
that is mentioned or referred to by using the name that is connected or
related to it. In the same way, option D, Personification was incorrect
because it is a literary device which assigns human features to non-human
objects and hence makes them behave/act like human beings in the work.
Also, option E, Aside, was incorrect because it is a dramatic technique that
involves an actor addressing the audience directly while on the stage with
other actors unaware.

Generally, the candidates who scored high marks on this question proved
that they had developed the required competences in analyzing different
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literary concepts and theories. Also, they thought critically and made sound
judgements on literary assumptions and propositions, hence, they managed
to choose the correct alternatives from a list of distractors in the items of
this question. Their scores ranged from 3 to 7out of 9 marks. Extract 1.1
below is a sample of responses from a candidate who scored high marks in
question number 1.

O p B v~ W YR x|
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Extract 1.1: A Sample of Correct Responses to Question 1

It is worth noting that there were other candidates who had average scores.
Such candidates demonstrated average competences on some basic literary
concepts and theories. Their scores ranged from 3 to 6 marks out of 10
marks. They managed to choose some correct alternatives in the first
question. An illustration is made in Extract 1.2 from one of these
candidates.
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Extract 1.2: A Sample of Responses by Candidates with Average
Performance on Question 1

On the other hand, there were candidates who showed inadequate
knowledge of issues in some of the items tested in this question. Such
candidates failed to choose the correct alternatives from distractors for
many items leading to their poor performance in this question. It is
observed in this analysis that the candidates’ failure in this question was
caused by lack of skills in remembering, applying, analyzing and
evaluating literary terms and concepts. Their scores ranged from 0 to 2.5
marks out of 9 marks. Extract 1.3 shows a student’s sampled incorrect
response.
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Extract 1.3: A Sample of Incorrect Responses to Question 1
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1.1.2 Question 2: Matching Items

This question required the candidates to match the description of the stages
of plot development in List A, numbered (i) — (vi) with the stages of plot in
List B lettered (A — F) by writing the letter of the correct response beside
the corresponding item number in the answer booklet. The question stated
as follows:

Match the descriptions of the stages of plot development in List A with
the stages of plot in List B by writing the letter of the correct response
beside the corresponding item number in the answer booklet provided.

LIST A LISTB
(i) It occurs near the end of the story. A Exposition
(ii) The insertion of background information in a | B Climax
story. C Action
(iii)Part of the performance where the main problem | D Resolution
is worked out. E Falling
(iv) The highest point of tension in a narrative plot. action
(v) It occurs when the conflicts of the characters | F Rising
start. action
(vi)The events meant to be at the end to be found at | G Flashback
the beginning of the performance.

This question was attempted by 115,401 candidates which was equivalent
to 100 per cent of all candidates. The candidates who scored 4 to 6 marks
were 37.82 per cent which was a marker of good performance. Similarly,
38.61 per cent of the candidates scored 1.5 to 3.5 marks which is
categorised as average performance. Also, the candidates who scored 0 to 1
mark were 24.56 per cent. Their performance was categorised as weak.

Consequently, the general performance on this question was good because
75.44 per cent of candidates scored 1.5 to 6 marks. Figure 1 illustrates in
detail the general performance of the candidates on question 2.
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Figure 2: The Performance of the Candidates on Question 2

Analysis indicates that candidates who matched correctly the descriptions
in List A with their correct responses in List B were competent and they
had good understanding of the stages of plot development in literary
materials.

Item (i), It occurs near the end of the story was matched with letter E,
falling action because the falling action in the stages of plot development is
the point where the conflict in the story begins to slow down. It is at this
point where the conflict is about to be resolved

Item (ii), the insertion of background information in a story was matched
with A, ‘Exposition’ because the exposition stage introduces the reader to
what the story is about. It occurs at the beginning of the story where the
characters involved, setting and the conflict or theme of the story are
revealed to the readers.

Furthermore, item (iii), Part of the performance where the main problem is
worked out was matched with D, Resolution since resolution refers to the
stage of plot where the conflict (or events) in a work of art is brought to
conclusion. It is at this stage where the incidents in the story are resolved.

13



Item (iv), The highest point of tension in a narrative plot was matched with
B, Climax because the climax is the stage where incidents or conflicts in
the story are at the peak. At this stage, the conflict becomes intense and
interest or curiosity of what happens next increases.

Moreover, item (v), It occurs when the conflicts of the characters start was

matched with letter F, Rising action because in the rising action stage
crashes and antagonism among characters begin to take place. It is at this
point where collisions or conflicts among characters begin to be intense.

Also, item (vi); The events meant to be at the end to be found at the
beginning of the performance was matched with letter G, ‘Flashback’
because unlike in chronological plot, in flashback, events are twisted such
that the serial flow is altered or interrupted i.e. the chronological sequence
of events in a story in which the past events are inserted into current events
for artistic reasons. The candidates who opted for incorrect responses had
inadequate knowledge on the stages of plot development in literary works.

Therefore, candidates who scored high marks on this question showed their
competence on the elements of form of a literary work, particularly plot.
They had good understanding on the arrangement of events in artistic
stories. The candidates’ scores ranged from 1.5 to 6 marks out of 6 marks.
Extract 2.1 shows the sample of a response from the candidates who scored
high marks on this question.
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Extract 2.1: A sample of correct responses to Question 2
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There were also candidates who scored average marks in this question.
These candidates showed minimal understanding on the stages through
which the plot of an artistic work is developed. This made them to select
and make the equivalent on a few pairs correctly and others incorrectly.
Their scores ranged from 1.5 to 3.5 out of 6 marks.
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Extract 2.2: A sample of a response from a candidate with average
performance on Question

On the other hand, the candidates who scored low marks in this question
lacked adequate knowledge and competence on the arrangement of events
in a story. Consequently, these candidates failed to correctly match the
given descriptions of plot development in List A with their corresponding
stages in List B to produce a correct arrangement of incidents in the story.
The scores of these candidates ranged from 0 to 1 mark and it was
categorized as weak performance. Extract 2.3 is a sample of incorrect
responses to this question.
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Extract 2.3: A sample of incorrect responses to Question 2

1.2 SECTION B: SHORT ANSWER QUESTIONS

This section had 6 compulsory questions, namely 3, 4, 5, 6, 7 and 8.
Each question weighed 9 marks, making a total of 54 marks on this
section.

1.2.1 Question 3: Short Answer

The question tested candidates’ ability to read and comprehend a
written poem and then respond to the subsequent questions that
followed. The question read as follows:

Read the following poem and answer the questions that follow:

He read medicine,
Specializing in the tooth
And graduated with honours
With a new thesis

To cure the aching malady

15



“Our teeth shall be alright”
People chanted, welcoming his service.
And he started work, prompt and immediate
They brought him all teeth they had-
Decaying teeth, aching teeth, strong teeth.
And he started working on their jaws
Diligently pulling out every tooth
From the jaws of every mouth,
And they paid him with meat
Which now they could not eat.

And so on went the dentist
Making heaps and heaps of teeth
Useless. Laying them waste
Without fear than soon
Very soon indeed,
He would have no teeth to attend to,
No tooth for which to call himself a dentist.
Questions
(a) What is the poem about?
(b) Briefly explain, who is the persona in this poem?
(c) Briefly explain two possible themes that are portrayed in this
poem.
(d) Explain briefly two poetic devices that have been used in this
poem.
(e) Why do you think that the poem is relevant to the contemporary
society? Give two reasons.

The question was attempted by 115,401 candidates, which was
equivalent to 100 per cent of all candidates; out of whom, 6 per cent of
them scored 6.5 to 9 marks which was good performance. Moreover,
26.33 per cent of the candidates scored 3 to 6 marks, which was
average performance. Lastly, 67.67 per cent of the candidates scored 0
to 2.5 marks and their performance was categorized as weak. The
general performance on this question was average because 32.33 per
cent of the candidates scored 3 to 9 marks. Figures 3 present the
detailed performance of the candidates for Question 3.
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Grade

B WEAK
AVERAGE
B GOOD

Figure 3: The Performance of the Candidates on Question 3

Item (a) required candidates to provide brief explanations on what the poem
was about. The correct response for this item was: The poem is about a
person (dentist) who studied medicine to cure people’s teeth as expected.
Unexpectedly, he pulls out people’s teeth, including healthy ones, against
his profession. Shortly, the poem can be extended to replicate the immoral
behaviour of some professional personnel who do not abide by the codes of
their professions when the community has all their hopes in them.

Item (b) required the candidates to identify the persona in the poem. The
correct response was; the persona is an observer who is puzzled by the
behaviour of the dentist who is acting against his medical profession by
simply pulling out teeth regardless of whether they are healthy or
unhealthy. The persona is revealed in the poem through the use of the word
‘our’ in the quoted verses below.

“Our teeth shall be alright”
People chanted, welcoming his service.
And he started work, prompt and immediate’

The word ‘our’ suggests that, the person speaking in the poem is a member
of the society in which the dentist works. Or the person is quoting what
members of the society said.
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Item (c) asked the candidates to identify and briefly explain two possible
themes from the poem. The correct answer to this item was supposed to be
as follows: The two possible themes from the poem are betrayal and
irresponsibility. According to the poem, betrayal is reflected through the
doctor who is acting carelessly and contrary to his professionalism by
pulling out people’s teeth without making a thorough investigation. The
verses from the poem below justify the fact:

“And he started working on their jaws

Diligently pulling out every tooth

From the jaws of every mouth”
Thus, the verses show that the dentist has betrayed his professionalism
because what he does is contrary to the norms or ethics of the medical
profession.

Another theme is irresponsibility. This theme is shown in the poem through
the dentist who is not responsible with the people he attends. This is
evidenced in the poem when the persona says:

“And so on went the dentist

Making heaps and heaps of teeth

Useless. Laying them waste
The implication from the verses is that the dentist does not fulfill his duties
and responsibilities accordingly. He does not act responsibly to patients
who visit him with toothaches and so he ends up pulling them out
randomly. However, other relevant themes proposed by candidates in their
responses were awarded.

In item (d), the candidates were instructed to explain any two poetic
devices that had been used in the poem. The correct response to this item
was symbolism and imagery. Symbolism is shown through the use of an
expression ‘aching teeth’ which symbolizes problems or difficulties
encountered by the people in society which need to be solved. On the other
hand, imagery is shown through the dentist’s service which helps to draw
the picture of the people’s sufferings in society. It is evidenced through the
use of the word ‘awful’ in the poem which means ‘poor’ Thus, the use of
language in the poem suggests the image of the poor service provided by
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the dentist to the people. Candidates who wrote other relevant poetic
devices found used in this poem were also considered.

Item (e) required the candidates to comment by giving two reasons as to
why they thought the poem is relevant to the contemporary society. The
correct answer to the item was that: First, the poem is relevant to the
contemporary society because there are people/professionals who act
contrary to what is expected of them. Such people do not live up their
education, expertise or skills as the society expects from them. These
people, just like the dentist who is described in the poem, betray their
professions and therefore the people they serve. Second, there are people
who are trusted by the society but they tend to be reluctant and
irresponsible in fulfilling their duties. Untrustworthy people like the dentist
have caused problems to people and thus lowering social progress.

The candidates who had performed well on this question proved that they
had the ability to read and comprehend poems by responding correctly to
the questions given after it. They also showed their competences in reading
and comprehending written poems. They scored from 3 to 9 marks out of
09 marks. The candidates’ performance was categorized as good in this
analysis. Extract 3.1 shows that candidates who scored high marks on this
question were knowledgeable on the steps to follow in analyzing poems.
The sample indicates a candidate who responded correctly to the items by
drawing evidence from the given poem.
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Extract 3.1: A Sample of Correct Responses to Question 3

Similarly, in this question there were candidates who scored average marks.
Their scores ranged from 3 to 6 marks out of 9 marks. This performance
was categorised as average.
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Such candidates demonstrated partial ability of reading and comprehending
poems. They partially considered the guidelines and principles of
interpreting poems. This enabled them to respond correctly to some items
of the question and incorrectly to some. Extract 3.2 illustrates the
candidates’ average response to this question. The candidate responded
correctly to some items and partially to some as he/she could not justify
his/her argument by drawing evidence from the given poem.
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Extract 3.2: A Sample of Responses from a Candidate with Average

Performance on Question 3
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On the other hand, there were candidates who scored low marks on this
question. Their scores ranged from 0 to 2 marks out of 9. The performance
was categorised as weak. These candidates failed to read and comprehend
the given poem. Thus, they did not provide correct responses to the
question items. Extract 3.3, the sample response indicates a candidate who
failed to respond correctly to the question and ended up copying words and



verses from the given poem in the answer booklet. The candidate also
lacked knowledge of the procedures of reading and analysing poems.
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Extract 3.3: A Sample of Incorrect Responses to Question 3

122 Question 4 Short Answer

The question aimed at testing candidates’ ability to use oral storytelling
techniques to the audience during story telling. The question read:

How does each of the given oral presentation techniques in (a) — (f)
help in improving oral storytelling to the audience?
(a) Verbal techniques
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(b) Facial expression

(c) Mimicking

(d) Singing and dancing

(e) Gestures

() Encouraging the audience’s reactions

This question was attempted by 115,401 candidates equivalent to 100 per
cent of all candidates. Out of them, 0.91 per cent of the candidates scored
6.5 to 9 marks, which was categorized as good performance based on this
analysis. Besides 10.23 per cent of the candidates scored 3 to 6 marks. This
was average performance. Then, 88.86 per cent of the candidates scored 0
to 2.5 marks and their performance was categorized as weak. The overall
performance on this question was weak because 11.14 per cent of all
candidates scored 3 to 9 marks. Detailed information on the performance of
candidates on this question is shown in Figure 4.
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10.23
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WEAK AVERAGE GOOD
Grade

Figure 4: The performance of the candidates on question 4

Item (a) of this question required candidates to explain how verbal
techniques help in improving oral storytelling to the audience. The correct
response expected to this item was: Verbal expressions help the story teller
to use his/her voice pitch, tone, pace and intonation to keep the audience
interested to the story.

25



Item (b) asked candidates to explain how facial expressions help in
improving oral storytelling to the audience. The correct response to this
item was: Facial expressions include nodding, blinking and kissing. They
help to establish and maintain connection between the story teller and the
audience. They build good relationship between the presenter and the
audience.

Item (c) required candidates to explain how mimicking helps in improving
oral storytelling to the audience. The correct response for this item read as
follows: Mimicking involves the copying or imitating the manner in which
the story-teller speaks, moves and behaves such that he/she engages the
audience. Therefore, mimicking helps to raise affection to the audience
listening to the story and make them active participants.

Item (d) tested candidates’ ability to explain how singing and dancing help
in improving oral storytelling to the audience. The correct response to this
item was: Singing and dancing help to make the audience interested and
active. They also make the audience feel that they are part and parcel of the
narrated story.

Item (e) assessed candidates’ knowledge of how gestures help in improving
oral storytelling to the audience. The correct response was: Since gestures
involve the movement of the presenter’s hands, head and face to show or
demonstrate a particular meaning or feeling or intention, they help to
engage the audience and make the presenter well-understood. They also
help to insist on certain points in the story.

Item (f) required candidates to explain how encouraging the audience’s
reactions helps in improving oral storytelling to the audience. The
candidates were expected to respond as follows: Encouraging the
audience’s reactions provides the presenter with feedback which includes
clapping, nodding, laughing and asking or answering some questions rising
from the story. It helps the audience to feel part of the presentation and
make them receptive. It makes the presenter feel that he/she is listened.

Generally, the candidates who obtained high marks on this question were
knowledgeable about the study of oral literature and its genres. They
applied the knowledge gained from oral literature to provide correct
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explanations on the given oral presentation techniques in a well-organized
and comprehensible language. Their scores ranged from 6 to 9 out of 9

marks.
and the

Analysis reveals that the candidates understood the question well
y had a good flow of ideas in their explanations. They responded to

each item clearly, citing examples to justify their explanations. Extract 4.1
is a sample of the candidates who responded correctly to this question.
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Extract 4.1: A Sample of Correct Responses to Question 4

There were also candidates who scored averagely in this question. These
candidates demonstrated fractional aptitude to grasp and explain a variety
of oral literature techniques. They were not able to provide the correct and
anticipated responses to some given items: Among the candidates, 10.23
per cent had scores that ranged from 3 to 6 out of 9 marks. In Extract 4.2,
the candidate provided correct explanations to some items but some
responses to other items were incorrect. One candidate made a number of
repetitions of the instruction phrase of the question’s subject matter to the

responses she/he made. Extract 4.2 illustrates:
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Extract 4.2: A Sample of Responses from a Candidate with Average
Performance on Question 4

Nonetheless, there were candidates who scored low marks in this question.
Their scores ranged between 0 and 2 marks out of 9. The performance was
categorized as weak because the items’ response analysis shows that
candidates scored low marks because they failed to apply the knowledge of
Oral Literature in interpreting, explaining, defending and exemplifying the
tested oral presentation techniques in this question. For example, the
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sample response shown in Extract 4.3 indicates the candidate who listed the
roles of literature in the society due to failure to interpreting and understand
a question.
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Extract 4.3: A Sample of Incorrect Responses to Question 4

1.2.3 Question 5: Short answer

The question was set to assess candidates’ knowledge about distinctive
features of poetry from prose narratives. The question stated as follows:

How does poetry differ from prose? Give six points.

The question was attempted by 115,401 candidates which was equivalent to
100 per cent of the candidates. Among them, 11.26 per cent of the
candidates scored 6.5 to 9 marks in this question. This performance was
good. Besides 54.13 per cent of the candidates scored 3 to 6 marks which
was average performance. Then, 34.61 per cent of the candidates scored 0
to 2.5 marks and their performance was weak. The overall performance of
this question was good because 65.39 per cent of the candidates scored 3 to
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9 marks. Figure 5 illustrates the performance of the candidates on this
question.

Grade

m WEAK
AVERAGE
HGOOD

Figure 5: The Performance of the Candidates on Question 5

The candidates were supposed to respond to this question by stating unique
features of poetry and prose as follows:

Poetry is composed to be sung whereas a prose is written to be read. The
singing of poetry is possible because poems are written in short metrical
lines known as verses unlike prose which is in chapters and paragraphs of
long complex sentences which are not easy to sing.

Poetry uses more figures of speech than prose. Poetry is loaded with plenty
of images, symbols and personifications. The use of figurative language
makes poetry to be extremely emotional and appealing unlike prose which
employs a few figures of speech.

Poetry is arranged in lines/verses and stanzas whereas prose is arranged in
paragraphs. The basic element in poetry is a line. Poems are written in
lines which when grouped form stanzas.

Poetry employs language economy whereas a prose uses a lot of words.
The language of poetry is condensed in such away that it uses very few
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words but elusive in meaning to portray a huge content unlike prose which
is extravagant in the use of words.

Poetry is more emotionally charged than a prose. This is due to the use of
figures of speech which arouse strong feelings in the listener’s senses when
recited or read.

Poetry has few or no characters whereas prose has many characters. There
are no or very few characters in poetry because it is short or condensed as
well as symbolic. On the other hand, prose uses relatively more characters
because it is long, complex and it presents many incidents.

The candidates who provided correct responses to this question
demonstrated their competences in analysing the genres of written literature
and their distinctive properties. Their competences enabled them to
correctly describe the characteristics which make poetry different from
prose. They started by conceptualizing the terms, poetry and prose. The
candidates viewed poetry as a writing that formulates a concentrated
imaginative awareness of experience, chosen and arranged so that it creates
an emotional response through its sound, rhythm and meaning, and prose as
an extended writing in paragraph form that adheres to grammatical and
natural flow of speech. They went on with a good flow by outlining and
explaining briefly the features that make poetry different from prose. The
scores of these candidates ranged from 3 to 9 marks out of 09. Extract 5.1
presents a sample of good response to this question. This candidate was
competent enough to correctly explain the features that differentiate poetry
from prose.
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Extract 5.1: A sample of Correct Responses to Question 5
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Subsequently, there were candidates who got average scores in this
question. They managed to provide correct explanations on a few items but
could not explain and exemplify the rest of the items appropriately. They
scored from 3 to 6 marks out of 09 marks. This performance was
categorized as average. These candidates yielded average marks on this
question following their fractional response to some items assessed in this
question. They provided a few correct features of poetry while some were
incorrect. A sample of a candidate’s response shown in Extract 5.2
illustrates how candidates who scored had average performance mentioned
few correct features of poetry but failed to show how it differs from prose.
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Extract 5.2: A Sample of Students’ Average Responses to Question 5
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Nevertheless, there were candidates who responded weakly to this question
leading to low marks. They scored from 0 to 2.5 marks out of 09 marks.
Analysis indicates that candidates who performed poorly on this question
had low mastery of distinctive features of the genres of written literature
particularly poetry. Their responses suggested that they had low English
language proficiency that hindered them from expressing themselves
correctly. Extract 5.3 below shows a candidate who gave incorrect features
and explanations of the features of poetry which differentiates it from
prose.
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Extract 5.3: A sample of Responses from Candidates with weak
Performance on Question 5

35



124 Question 6: Short answer

This question required the candidates to identify various genres of oral
literature and their application in real life. The question read:

For each of the expressions in (a) — (f), identify the genres of oral
literature which is described.

(@) A long story often told in verse form involving heroes and gods.

(b) A puzzling question, statement or description, especially one
which intends to test the respondent’s cleverness.

(c) A soothing song, poem or piece of music that is usually sung to
make a baby sleep, to calm a baby down when they are crying
or instill into them some morals.

(d) Displays of humour whose words in narratives or dialogues
make the audience laugh.

(e) A sentence or phrase which is difficult to articulate/ pronounce
quickly because of the sequence of nearly similar sounds.

(f) A short interesting or amusing story about a real person or
event.

A total of 115,401 candidates attempted this question, which made the total
of 100 per cent; where 7.39 per cent of the candidates scored 6.5 to 9
marks. The performance was categorized as good. Besides 48.62 per cent
of the candidates scored 3 to 6 marks which was average performance.
Then, 43.99 per cent of the candidates scored 0 to 2.5 marks, the
performance which was categorized as weak. The general performance of
this question was average because, 56.01 per cent of the candidates scored
3 to 9 marks. Figure 6 demonstrates the performance of candidates on this
question.
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Figure 6: The Performance of the Candidates on Question 6

In this question, candidates were required to use the knowledge obtained
from the study of oral literature to identify name an oral literature genre
represented by each of the given descriptions as follows:

In item (@), the correct genre for the description ‘A long story often told in
verse form involving heroes and gods’ was an epic. This is because, in
epics, heroic incidents and deeds of a certain society or race are presented
for heritage or historical reasons for the current and future generation.

Item (b), the correct genre for the description ‘A puzzling question,
statement or description, especially one which intends to test the
respondent’s cleverness’ was a riddle. It is riddles which puzzle an
audience and test their cleverness because riddles have a hidden meaning.
They test the respondents’ cleverness by making him/her think critically to
obtain meaning.

In item (c), the correct genre for the description ‘A soothing song, poem or
piece of music that is usually sung to make a baby sleep, to calm a baby
down when they are crying or instill into them some morals’ was lullaby.
Lullabies are normally sung by mothers and people who spend more time

37



taking care of babies. They are normally skillfully and tenderly presented to
calm babies or children.

In item (d), the correct genre for the description ‘Displays of humour whose
words in narratives or dialogues make the audience laugh’ was a joke.
Jokes are often used in narrations and informal conversations to attract
audience’s attention and build rapport between a narrator and the audience.
Similarly, they get rid of audience’s boredom.

In item (e), the correct genre for the description ‘A sentence or phrase
which is difficult to articulate/ pronounce quickly because of the sequence
of nearly similar sounds’ was tongue twister. Tongue twisters help
language learners especially children to improve word pronunciation and
socialization.

In item (f), ‘A short interesting or amusing story about a real person or
event’ was an anecdote. Anecdotes are for entertainment and moral
teachings/lesson to society especially the youth.

Generally, candidates who had good performance on this question were
able to apply their knowledge of various literary devices on how such
devices can be employed in speech and writing. Their scores ranged from 3
to 9 marks out of 09 marks. A sample of the correct responses is presented
in Extract 6.1 below.
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Extract 6.1: A sample of Correct Responses to Question 6

There were also candidates who had average performance because they
demonstrated partial understanding of the given literary concepts. They
scored 3 to 6 marks out of 09 marks. A sample of responses from a
candidate who had average performance is shown in Extract 6.2.

(oo)@) foirly fedy -
) faJ;i‘[u
@') L‘Uway Sengs

(4) CAWJy clvamar

@) )Onguo 'ﬁJ‘fsTérL

1) Ap ec’a/cf:z .

Extract 6.2: A Sample of Responses from a Candidate with Average
Performance on Question 6

On the other hand, candidates whose performance was weak failed to
identify/name a correct genre of oral literature which was represented by
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the given descriptions. They lacked the expected competence in analyzing
the genres of oral literature. They scored from 0 to 3 marks out of 09
marks. A sample of a response from the candidates with poor grades is
shown in Extract 6.3. The sample shows a candidate who failed to identify
the genres of oral literature represented by the given descriptions.
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Extract 6.3: A Sample of Incorrect Responses to Question 6

1.25 Question 7: Short answer

This question was set to evaluate candidates’ ability to state the importance
of each of the given literary devices in the preparation of a literary material.
The question read:

Write the correct answer for each of the items (a) — (f) in the answer
booklet provided.

(@) Why is poetic license important when composing poems?
(b) Why is irony used when creating a literary work?

(c) When does literature become imaginary?

(d) How is the plot important to a novelist?

(e) Why do poets use metaphors in their works?

() Why is the title of a literary work important?

The question was attempted by 115,403 candidates, which is equivalent to
100 per cent. Nonetheless, 3.35 per cent of the candidates scored 3 to 6
marks. Their performance was categorized as good. In addition, 43.63 per
cent of the candidates scored 3 to 6 marks that was average performance.
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Subsequently, 53.02 per cent of the candidates in this question scored 0 to
2.5 marks and their performance was categorised as weak. The total
performance of this question was average because 46.98 per cent of the
candidates scored 3 to 9 marks. Figure 7 displays the performance of the
candidates on this question.
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Figure 7: The Performance of the Candidates on Question 7

Item (a) required candidates to explain the importance of poetic license in
composing poems. The correct response to this item was, ‘poetic license
helps the poet/poetess to meet the important poetic or artistic requirements,
such as music and word economy.’

Item (b) asked the candidates to explain the reason why irony is used when
creating a literary work. One of the expected responses to this item was,
‘When creating a literary work, irony is used to criticize an individual, the
society or any system in an indirect way. This indirect criticism may be
effective since it will make a targeted person think critically to get the
message. Presenting the message directly can reduce its effectiveness as the
audience might ignore it.’

Item (c) required the candidates to state how literature becomes imaginary.
The correct answer to this item was as follows, ‘Literature becomes
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imaginary when it imitates life, people’s actions and beliefs. Experience
and life in general are presented as if they are real, so that people can
benefit from such creation and thus compare life in the work of art with
real life.’

Item (d) required the candidates to explain how plot is important to a
novelist. The correct response was, ‘Plot is important to a novelist because
it shows events in terms of what causes them and their effects. It enables the
novelist/author to present life by showing why characters act and behave
the way they do. It shows the motive behind the characters actions, which
in turn makes them be clearly understood by readers.’

Item (e) asked the candidates to explain the importance of using metaphor
when composing poems. One of the anticipated response was as follows, ‘A
poet uses metaphor to compare two dissimilar items indirectly as if they are
similar. In so doing, the audience or readers can understand the concept
clearly because they use the knowledge of one concept/object or idea to
understand the other.’

Item (f) required candidates to explain the importance of a title of a literary
work. The correct response to the item was as follows, The title of a
literary work, for example a novel, is important because it summarises the
literary work by showing what the work is all about. It may be direct or
indirect in presenting the form and content of such a work.’

Basically, candidates who responded correctly and scored high marks in
this question showed their competences on the basic literary concepts and
devices in terms of the conception as well as application in preparing
literary materials like novels, plays and poems. The candidates displayed
adequate knowledge of a wide-range of concepts and examples in the
responses they provided to the items assessed in the question. Their scores
ranged from 3 to 9 out of 09 marks. Extract 7.1 demonstrates a sample
response by a candidate who performed well on this question.
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Extract 7.1: A Sample of Correct Responses to Question 7

In the same question, there were candidates who scored average marks
because they provided correct explanations to some items; however, they
did not thoroughly justify their explanations with examples to some items.
The scores of candidates in this group ranged from 3 to 9 marks out of 09
marks. This performance was categorised as average. Extract 7.2, provides
a sample response by a candidate who had average performance.
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Extract 7.2: A Sample of Responses from a Candidate with Average
Performance on Question 7

There were also candidates who performed this question weakly. Such
candidates failed to explain the importance of the poetic license, irony, plot,
metaphor and title in literary works to literary artists. Analysis shows that
such candidates lacked adequate knowledge of literary concepts and due to
poor mastery of the subject failed to respond correctly to the items. Extract
7.3 below presents a sample response by a candidate who responded
erroneously by stating incorrect functions/importance of the tested literary
devices some of which are not related to literary material making.
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Furthermore, the candidate failed to defend his/her points with clear
exemplified explanations.
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Extract 7.3: A Sample of Responses from a Candidate with Weak
Performance on Question 7
1.2.6 Question 8: Short answer

This question assessed candidates’ knowledge of the genres of both oral
and written literature. It required candidates to write a genre represented by
each of the given descriptions by choosing it from the provided box. The
question stated:
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For each of the items (a) — (f), fill in the blank space by choosing the
correct answer from the box and write it in the answer booklet
provided.

Tragic-comedy, Play, Lullaby, Comedy, Non-fiction, Poetry, Fiction,
Genre, Historical Novel

(@) The class, form, kind or type of literary work is
called :

(b) The type of play that involves both humorous and funny
elements is called

(c) A literary genre that is assumed to use more figures of speech
than other genres is known as

(d) A narrative, especially in prose, created from imagination is
called

(e) A piece of writing or dramatic work designed for acting on the
stage isknownas

() A novel which narrates events that belong to a period prior to
the time they are presented is known as

This question was answered by 115,401 candidates equivalent to 100 per
cent. Data shows that, 44.22 per cent of the candidates scored 6.5 to 9
marks. The performance of these candidates was good. Additionally, 45.37
per cent of the candidates scored 3 to 6 marks which was average
performance. On the other hand, 10.41 per cent of the candidates scored 0
to 3 marks, falling into the weak, performance category. The performance
of this question was generally good because 89.59 per cent of the
candidates scored 3 to 9 marks. Figure 8 illustrates further the performance
of candidates on this question.
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Figure 8: The Performance of the Candidates on Question 8

Item (a) required candidates to name an expression that refers to the class,
form, kind or type of literary works. The correct name of this expression
was ‘Genre.’

Item (b) required the candidates to identify the type of play that involves
both humorous and funny elements. The correct answer was, ‘Comedy.’

Item (c) asked the candidates to write a literary genre that is assumed to use
more figures of speech than other genres. The correct answer was, ‘Poetry.’

Item (d) required the candidates to identify a narrative, especially in prose,
created from imagination. The correct answer was, ‘Fiction;

Item (e) required the candidates were required to identify a name of a piece
of writing or dramatic work designed for acting on stage. The correct
response to this item was, ‘Play.’

Item (f) needed candidates to identify the kind of a novel which narrates
events that belong to a period prior to the time they are presented. The
correct answer to this item was, ‘Historical novel.’

Therefore, candidates who responded correctly to this question applied

their knowledge of the genres of literature and various literary
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terminologies to choose the correct expressions given in the box to make
meaningful descriptions of the genres of literature. The scores of these
candidates ranged from 3 to 9 marks out of 9 marks. For that reason, their
performance was categorised as good in this report. A sample of correct
responses is presented in Extract 8.1.
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Extract 8.1: A Sample of Correct Responses to Question 8

Furthermore, there were candidates who had average performance on the
same question. This was because they had average understanding of the
genres of literature. Therefore, they responded correctly to some items and
incorrectly to others. Their scores ranged from 3 to 6 marks out of 9 marks,
which was average performance. A sample of responses from a candidate
who had average performance is illustrated in Extract 8.2. The candidate
responded correctly to items (a), (c), (e) and (f) and incorrectly to items (b)
and (d) Thus, his/her performance was average.
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Extract 8.2: A Sample of Responses from a Candidate with Average
Performance on Question 8
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On the other hand, the candidates who performed weakly, failed to identify
the correct or appropriate genre of literature which was represented by the
given descriptions. The candidates were incompetent in the area of
elements of literature hence they failed to demonstrate the expected
knowledge of the terms which were tested in this question. Their scores
ranged from 0 to 2.5 marks out of 09 marks. A sample of responses from a
candidate with weak performance in this question is shown in Extract 8.3.
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Extract 8.3: A Sample of Incorrect Responses to Question 8
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1.3  SECTION C: ESSAY TYPE QUESTIONS

The section consisted of three (03) essay type questions. These are
questions number 9, 10 and 11. The candidates were required to attempt
only two (02) questions in which question number nine (09) was
compulsory. Each question was worth 15 marks, making a total of thirty
(30) marks. The responses on this section were supposed to be supported
with reference to the recommended readings.

LIST OF READINGS

Plays

The Lion and the Jewel — Soyinka, W.

The Trials of Brother Jero — Soyinka, W.

The Dilemma of a Ghost — Aidoo, A.A.

The Government Inspector — Gogol, N.

Novels

A Walk in the Night and Other Stories — Guma, A.
Houseboy — Oyono, F.

The Old Man and the Medal — Oyono, F.

The Concubine — Amadi, E.

Poetry

Selected Poems — Tanzania Institute of Education
Growing up with Poetry — David Rubadiri

1.3.1 Question 9: Poetry

This question tested candidates’ knowledge of poetry. It required
candidates to differentiate between ballad and sonnet poems by making
reference to two selected poems, namely ‘Ballad of the Land Lord’ by
Langston Hughes and ‘If We Must Die’ by Claude McKay. The candidates
were required to provide three (03) points from each poem. Specifically,
the question read:

Using examples drawn from the two poems ‘Ballad of the Land Lord’
by Langston Hughes and ‘If We Must Die’ by Claude McKay, explain
with examples the distinctive features of ballads and sonnets. Give
three points from each poem.
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This question was attempted by 115,401 candidates, which was equivalent
t0100 per cent of the candidates. A total of 1.51 per cent of the candidates
scored 9.5 to 15 marks and their performance was good. Moreover, 11.13
per cent of the candidates scored 4.5 to 9 marks which was categorised as
average performance. Also, 87.36 per cent scored 0 to 4 marks and their
performance was weak. The general performance on the question was weak
because 12.64 per cent of the candidates scored 4.5 to 15 marks. The
performance of the candidates on this question is illustrated in Figure 9.
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Figure 9: The Performance of the Candidates on Question 9

Analysis reveals that there were candidates who scored high marks in this
question. Their scores ranged from 9.5 to 15 marks out of 15 marks. So,
this performance was categorised as good. Such candidates demonstrated
the required competences and knowledge of the distinctive features of the
two selected poems. The item response analysis shows that these candidates
understood the question and they provided correct responses by writing
good introduction, content-rich main bodies and plausible conclusions.
These candidates used intelligible English in explaining the distinctive
features of the two stated poems. Their responses were supported by
relevant quotations from the recommended poems.
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The candidates who responded correctly opened their essays by defining a
ballad as a poem in which there are two or more people (personas) speaking
in turn whereas a sonnet is a short poem with fourteen verses divided into
two stanzas. In addition, in their introduction, the candidates then
introduced the titles of the recommended poems in attempting this question.

In the main body of the essay, the candidates were expected to explain the
features of the two poems. In ‘Ballad of the Landlord’ by Langston
Hughes, candidates explained as follows:

Ballads are narrative in nature as they usually tell a brief story which is rich
in imagery. This is depicted in the poem when the tenant tells the story of
the conflict between him and the landlord following the landlord’s arrest of
the tenant because he has not taken the tenant’s complaint positively. Being
a victim, the tenant reveals the story to the audience in a manner that arouse
human senses. The quoted verses from the poem are given are below:

“.....Landlord, landlord  (in the first stanza)
My roof has sprung a leak”
“...what? You gonna get eviction order? (In the fourth stanza)
“... police, police come and arrest him...” (In the sixth stanza)
“...tenant held no bail...” (In the last stanza)
These verses show that a ballad is a narrative in nature because the
sequence of incidents in the poem flow in a narrative plot.

The candidates also stated that ballads are often set to opera music, as
comedy or tragedy. In ‘Ballad of the Landlord,” dialogue is in the form of
comedy as the tenant threatens the landlord as if he is strong enough to
harm him. In the end, it is shown in the poem that he is the one (tenant)
who is punished, as the following verses illustrate.

“...if I lend my fist on you...

“...police, police!”

“...tenant held no bail...

“Judge gives him Negro 90 days in county jail”.

Also, ballads have simple rhyme schemes/patterns whose variation depends
on the stanza. For example, one of the patterns can be aabb abab/abcb or
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any other form whereas poem “Ballad of the Landlord” has “landlord” in
the first verse; “lead” in the 2™ “it” in the 3™ and “week” in the fourth, thus
having a rhyming pattern of aabc. Other stanzas have different sound
patterns.

Moreover, ballads have verses that vary according to the poet’s wishes. The
most common number is 13 verses though they may be less or more than
this number. In additional to that, ballads have two or more people
speaking. For example, this poem has four characters: the tenant, the
landlord, the police, and the judge.

In line with the stated responses of the poem ‘Ballad of the Landlord’
candidates with correct responses were also expected to describe the
distinctive features of sonnet poems as follows:

Sonnets are lyrical in nature as they are short and originally meant to be
sung. The poem “If we must die” is short with 14 verses. Sonnets are also
written in fixed end patterns that can rhyme. For example, the sound
patterns used in the poem “If We Must Die” is arranged in abab in all the
stanzas of the poem. This can be justified by observing the first and third
verses that rhyme with ‘hogs’ and ‘dogs’ whereas the second and fourth
verses rhyme with ‘spot’ and ‘lot’ respectively.

Sonnets rarely have portrayed characters. Rather they have implied
characters revealed by the persona. In the poem ‘If We Must Die’, the
persona seems to talk to his fellow community members as he uses the
pronoun ‘we’. For example, “If we must die....”

Sonnets have a fixed number of verses and stanzas. They have 14 verses.
For example, the poem “If We Must Die” has 14 verses.

Sonnets are sophisticated in nature because they are expected to bring
lyrical effect. For example, the lyrical effect brought about in ‘If We Must
Die’ express strong feelings on certain points/ideas

Generally, ballad and sonnet poems express various things that happen in
everyday life situation. Extract 9.1 illustrates.
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Extract 9.1: A Sample of Correct Responses to Question 9

However, there were candidates who scored average marks on the question.
Their scores ranged from 4.5 to 9 marks out of 15. They explained partly
some correct features of both sonnets and ballads, however, some features
were deemed incorrect. Similarly, these candidates did provide credible
explanations to the features they stated in relation to what is actually
depicted in the two forms of poems. Extract 9.2 below presents a sample of
responses from a candidate who had average performance on this question.
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Extract 9.2 A Sample of Responses to Question 9 from a candidate

with average performance

Furthermore, there were candidates who scored low marks in this question.

Their weak performance was due to question misinterpretation

of the

question and lack of poetry mastery revealed by their responses. The scores
of such candidates ranged from O to 4 marks out of 15. Analysis reveals
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that these candidates lacked understanding of the different kinds or forms
of poetry and their defining features or characteristics. This hindered them
from providing correct features of ballads and sonnets. The sample of
responses in Extract 9.3 presents an answer by a candidate who
misinterpreted the question. Hence the candidate responded poorly by
explaining the issues portrayed in the poems instead of giving the features.

59



T Balads and Soantes GLWANS VSt

a Wind of ot Whitn Shows exeenente s

OF Wilkkt(S k0 dePites \nkended S

mesSsagesS k0 knt SonceveS: Bw VSing

e Potm N BALLAD OF TRE LAWDLORD” by

Langdscon HuonesS and M \F' Wwe Musy

Die by (lavde mokay = Tnovan Stuccing

LHitn Ene Potm M BALLaD 0F THE LAND LoRp "

A5 knt Avoit SctottmMenNes OS5 foOUOWNS .«

Povecey 10 wiS potm A PeiSono
Shows and defitkS tne \SSuesS 0 Poof

AWANS ConditidNs OF kenankeS fawta ko

Pox NMIuSE (ENES Lo Landlofds and tnus

e SOw

N Femanke had no vain"

EXPuoation; \0_tS Poem alse O

PusSena deeiteS kEne \S5ueS OfF €XPL0Vcakiop

whntie oy oo Londlofd EXPLOILS benanks

and hence LOvi0d i ko kne (oueS  and

thous & Pecsona Savy

Wien buK S You Say \S due .

DrScomination; \n tvnS Poem oo

Persona ShowsS Now a kenank diSCnmy nate

d by tne landwd ond Judaes dvaing \n

kg (pvikS SuScemsS O 5udaes ABROAES EO

Svdong a (oSe and & PersoNo Say

YA BEndots 9wes o Qp Aoy g

O Neacd ktnones '

Also by TEFFRGNH ko the PoeynS OF

“1E WE MuS] DIE- The Goove

Sotfmentes deStined GNd JusStified

asS fOoVwowWsS .

60




Unity \n tis potm O pefSonoa

Showngs knt demandS 0F Sollek\t S

MeMbeE(S k0 BNkeS kodeent( ONd Sk(uogle

Ad NSt 0PeeeSS 100, hvmiviagion and

X PWikakion 0F ktne LPPR¢ (Lo SS-khusS he
S5a3 s ‘

W \E We Must die, Lok 1t not ot L e hoas
lnsustie; Also \n kS Qoem &

Pt(Sona  AEPILS and Pok(adesS ent \SSues

Of \N3usStileS ko PeoPlet OS5 tnty age bing

huoaamy ang 0pPeesSsSed by tne LVePe(

(lass angd he Sans

W NOE tnougn beeose VS 11eS the Qpen

9cove s

Classes: \n xis Poem aLsSe o
PLiSono QOfkfay and dALPV(ES Nt {S5utS of

ClassSes a5 nege v S WpPe( (lass angd kne

Lwel (LasSs Wwnte by VPP (LaSS EXPnES

T 7

tnt Lowee (LASS and NYMUOEES ktnem -

Finauy Poer's awway s depries

and SNOWS MEELENES fLantieS Wiltn ase

NeM faces kne Sollexies angd PO(LON 5

0 PtoPleS MindS and Knowledoge -

Extract 9.3: A Sample of Incorrect Responses to Question 9

1.3.2 Question 10: Novels

The question was set to evaluate candidates’ ability to read, comprehend
and analyse novels in relation to real life situations. Specifically, the
question required candidates to use literary devices, three from each novel
to show how they (devices) help in bringing about the intended message. In
attempting this question, candidates were required to refer to any two
recommended novels to support their views/points. The question read as

follows:

61




Using two novels show how writers have managed to use various
literary devices to present their message effectively. Give three points
from each novel.

The question was attempted by 115,401 candidates which was equivalent to
100 per cent of the candidates; whereby 68.12 per cent scored 0 to 4 marks
which was categorically weak performance. Furthermore, 24.03 per cent of
the candidates had average performance by scoring 4.5 to 9 marks.
However, there were 7.85 per cent of the candidates who scored 9.5 to 15
marks that was categorised as good performance. The general performance
on the question was average as 38.88 per cent scored 4.5 to 15 marks. The
performance of the candidates on this question is illustrated in Figure 10
below.
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Figure 10: The Performance of the Candidates on Question 10.

Analysis reveals that there were candidates who scored high marks on this
question. Their scores ranged from 10 to 15 marks. Hence, their
performance was categorised as good. These candidates managed to
comprehend and respond correctly to the question by showing how literary
devices are used by the novelists to show different intended messages to the
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audience. The responses of such candidates were supported by relevant
quotations from the literary works.

They started their introduction by conceptualizing the term ‘Literary
devices’ as the typical structures used by writers in their works to convey
their messages in a simple manner to the readers. They viewed that literary
devices help the readers to appreciate and analyse literary works. Literary
devices contribute on making message the effective. The candidates also
stated the selected novels they used to attest the contribution of literary
devices in making a literary message effective. In the end of their
responses, the candidates provided relevant conclusions which appealed to
the focus of the question.

In ‘Houseboy’ by Ferdinand Oyono, the candidates’ responded by
explaining various literary devices employed in the novel, and they drew or
deduced a summary of the message conveyed through each device. Some
of the devices stated were as follows:

Candidates explained the use of similes. They defined a simile as a figure
of speech which compares two distinct objects or things using joining
words (conjunctions). The author used similes in his works to show or
describe various ideas and events. For instance, Toundi says “I twisted like
a worm in the sun”. Here, Toundi likens himself with a worm. This simile
may give the message that parents should not resort to the use of violence
to discipline children. It reflects Toundi’s protest against the thrashing he
receives from his father for fighting with Tinati.

The candidates showed the use of personification in the novel. They viewed
personification as a device that allows objects and non-humans to assume
human qualities. Personification is employed in this novel to present a
number of issues and events. For example, when the narrator says, “The
crowd was swallowed up in the church”. In this example, the church which
is inanimate has been given the ability of swallowing. This complex
behaviour which is done by human beings and other living things is
assumed of being done by the church to show how people filled up the
church to pay last respects to the dead, Father Gilbert. So, this device may
be interpreted to convey the message that society members regardless of
their background ought to live in love and harmony for social progress. In
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this device the church is given the attribute of animates to present the
intended message in the given quality.

Similarly, the candidates explained the use of proverbs in the novel. A
proverb is a brief/short phrase that gives advice in an obscure way.
Proverbs are widely used to express obvious truth because they have wise
content. In this novel, the writer has employed a wide range of proverbs to
convey the message to readers. For instance, Toundi, uses the following
proverb “The dog of a King is the King of dogs.” This proverb reveals
Toundi’s pride in working for the white men while he lowers his dignity by
comparing himself to a dog. It would convey the message that mental
colonisation denies people of dignity.

The candidates also explained the use of imagery in the novel. They
defined it as a device that entails using words to create mental image which
can be accessed through human senses. The author of this novel uses
various images to convey the message across to the readers. For instance,
Toundi describes Mme Salvain’s appearance as follows, “Mme Salvain
wore a dress of red silk which showed off her great behind like the ace of
hearts. She had fastened up her hair in a figure of eight and stuck a
hibiscus flower in it as red as her dress.” This description makes a reader
to visualize the issue of immorality by society members. Hence, this device
may convey the message that some modern dressing styles are immoral to
the public Thus they should be avoided.

In ‘The Concubine’ by Elechi Amadi, the candidates responded by
analyzing among others, the following literary devices and then suggested
the messages conveyed through them.

The candidates asserted the use of symbolism that may suggest that various
ill behaviours such as jealousy are not good because they cause conflicts
among people. They defined symbolism as a figure of speech that allows
an idea, object or person to stand for something else. In this novel, the
author has used symbols to depict various ideas to the reader. For example,
Chima refers to Madume as “a big-eyed man” The expression “Big-eyed”
symbolizes Madume’ greed which had resulted into a conflict between him
and Emenike then the elders.
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Additionally, personification is used to make descriptions of non-human
entities more vivid so as to carry the intended message that society
members ought to comprehend. Personification is a literary device that
involves giving human qualities to non-human objects or entities
(inanimate objects) to behave and act as if they are animal or human
beings. In one incident in the novel, the narrator says, “when IThuoma began
to weep Wolu stopped talking. She felt a deep sympathy and two drops
stood in her own large eyes”. The drops cannot stand like human beings.
This device has been used to create vivid image in the mind of the reader.

Furthermore, the candidates noted onomatopoeia that was used to present a
message in an exciting or shocking way. They hinted that onomatopoeia is
a literary device that involves the use of sounds which suggest the meaning
of words they present. It involves the imitation of the sounds of objects to
suggest meaning. In the novel, onomatopoeia expressions appear when
Ihuoma cries following the death of her husband Emenike. lThuoma says,
“Kaka, what will I do. Oh what will I do? How can I look after the whole
compound, young as | am? Is there no way to bring back my lord? chei!
chei! chei!” The cries, ‘chei! chei! chei!, are actual sounds or screams
Ihuoma utters to express her helplessness after the death of her husband.
Her cries and mourning is a result of bitter experiences in life. The
onomatopoeic cries of lhuoma may be used to express actual feelings such
as true love.

In “‘The Old Man and the Medal’ by Ferdinand Oyono, the candidates
who answered the question correctly explained the use of literary devices:
The use of apostrophe in the novel was also evidenced by candidates who
responded correctly to this question. They conceptualized this figure of
speech as an act of one addressing someone who is absent or dead, or an
object as if it is alive. In the novel, the author has used an apostrophe
through Meka who after getting drunk, addresses the road as if it can hear
or understand him. Meka says, “Oh road, daughter of all our labour; lead
me to the white man”. This literary device reflects desperation as the effect
of alcoholism which makes him to speak aloud to the road as if it were a
human. This device is interpreted to have conveyed various perceptions
about taking alcohol. For instance, some candidates suggested that,
alcoholism harms one’s mental ability leading to their unconsciousness.
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Hyperbole in the novel was also identified by candidates. It is used to
intensify the image created by or a message that is intended to reach the
reader’s mind. The candidates who discussed this literary device defined it
as a device which involves exaggeration of facts for emphasis. It uses
words or statements which make something or someone look more
important or serious than he or she actually is. In the novel, the
Commandant says to Meka, “You are more than our friend.” Some
candidates suggested that this literary device is used by the novelist to show
the hypocritical behaviuor of the white men to the Africans. The
Commandant exaggerates his hypocritical closeness to Meka by
considering him more than a friend while he keeps on maltreating him. The
whites in the novel pretend to be friendly to Meka but they keep
humiliating and exploiting him. Similarly, one may deduce this expression
to get the message that, hypocrisy is a characteristic feature of evil people.

Another literary device identified by candidates is metaphor. It is used in
the novel to make comparisons. This figure of speech involves comparing
two dissimilar things or objects without using conjunctions. In the novel,
Engamba addresses Binama saying, “A child is a strange fruit.” In this
metaphor, a child is likened with a fruit without using any conjunction.
This metaphor was thought to be used in the novel to express the pleasure
of bearing children in a family.

Idioms were also shown by candidates in response to the question. They
stated that, idioms are phrases or expressions whose meanings are different
from the meanings of individual words. Idioms are learned as whole units
to understand their meanings. Idioms are important in works of art because
they generate interest in the work and enrich its language. In this novel, one
of such idioms is, “The chimpanzee is no brother to a gorilla.” This idiom
expresses the hostile and oppressive relations that existed between whites
and blacks during colonization. It can convey the message that, colonialism
undermines the rights of the colonized (Africans) people. A sample of
correct responses to this question is given in Extract 10.1.
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Extract 10.1: A Sample of Correct Responses to Question 10

Correspondingly, some candidates scored average marks on this question.
Their scores ranged from 4.5 to 9 marks out of 15. These candidates
explained the literary devices from the novels but they could not show the
messages conveyed through those devices. Still, some explained the literary
devices and the messages depicted but failed to refer to respective readings
by quoting the literary devices. This made them get average performance
and thus, scoring average marks. Extract 10.2 provides sample responses
from a candidate who got average marks after explaining the literary
devices and the messages conveyed through them but failed to make correct
reference to the readings.
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Extract 10.2: A Sample of Responses to Question 10 from a Candidate

with Average Performance
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Moreover, candidates had poor performance on this question. Their marks
ranged from O to 4 marks out of 15 marks. This performance was weak
based on the stated criteria and categorization in this report. The candidates
who scored low marks failed to interpret the question and they ended up
providing incorrect points in their responses like explaining issues/themes
from the novels instead of literary devices. They failed to provide
elaborated correct responses due to lack of understanding of literary




terminologies, concepts and approaches. They also lacked awareness of the
kinds of books or titles of readings that are used in this subject. Extract 10.3
presents a sample of responses by a candidate who used irrelevant novels to
answer the question.
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Extract 10.3: A Sample of Incorrect Responses to Question 10
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1.3.3 Question 11: Plays

This question intended to test the candidates’ competences in reading and
analyzing plays. It required candidates to write lessons learnt from the
characters in the selected plays and to provide three points from each play.
The question read:

“We get to learn various things from characters.” Justify this statement
by using two plays. Give three points from each play.

The question was attempted by 115,401 candidates. Among whom, 19.55
per cent scored 9.5 to 15 marks, which was good performance. Also, 45.66
per cent of the candidates had average performance by scoring 4.5 to 9
marks. There was 34.79 per cent of the candidates who scored 0 to 4 marks.
Their performance was weak. The performance on this question was
generally good because 65.21 per cent of the candidates scored 4.5 to 15
marks. Figure 11 presents the performance details of the candidates on
Question 11.

Grade
m WEAK

AVERAGE
® GOOD

Figure 11: Performance of the Candidates on Question 11

This question was answered correctly by some candidates and therefore,
they scored high marks. Their range of scoring was from 4.5 to 15 marks
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out of 15 marks. Hence, their performance was termed good. The findings
of this report explicitly indicate that candidates who scored high marks
were knowledgeable about how the elements of form and content blend to
make a literary work. Thus, they managed to explain the use of characters
by writers to convey lessons to readers/audience. Additionally, these
candidates adhered to the correct and acceptable procedures of academic
essay writing, namely the introduction, the main body and a conclusion.

In “The Lion and the Jewel” by Wole Soyinka, candidates explained the
things we learn from different characters including the following:

The candidates used Lakunle who gives us the lesson that we should use
education to bring development to our societies. For example, Lakunle is a
school teacher who is determined to use his education to change the
[lunjinle society by introducing classes where he teaches villagers how to
read and write. He also wants Sadiku, a 72 years old woman to join his
classes. Lakunle generally, aims to transform his society.

Candidates also referred to Chief Baroka, from whom we learn that leaders
should be responsible enough to bring about development to the society.
Baroka misuses power by spending much of his time hunting for women
yet lunjinle village is underdeveloped. There are no roads; people ride
horses not cars and no factories that could transform people’s lives. The
reason behind this underdevelopment is irresponsible leaders like Baroka.

Furthermore, candidates used Sidi who makes us learn that some cultural
norms which oppress women should be abolished. Sidi is reluctant to
change. She insists on marrying Lakunle only if he pays bride price as per
traditional demands. She eventually falls in the hands of Baroka, the man
she never expected to marry. Baroka uses tricks to break Sidi’s virginity
and marry her to fulfill the demands of her culture.

Also, Sadiku who makes us learn that women should not be the source of
oppression for other women. Sadiku, Baroka’s senior wife, endangers
Sidi’s life by advising her to marry Baroka. In her visit to Baroka’s home,
Sidi is tricked by Baroka and he manages to have sex with her, hence
breaking her virginity. Since Sidi’s tradition restricts a woman to marry the
man that breaks her virginity, the circumstances force her to marry Baroka.

75



In the play, ‘The Trials of Brother Jero’ by Wole Soyinka, the following
are the lessons candidates drawn from characters.

Brother Jero teaches members of the society that some religious leaders are
not trustworthy. They are corrupt. They use their positions to exploit
worshippers and conceal their evils. Brother Jero exploits his worshipers by
treating them as customers and he calls himself a shopkeeper. He is also
portrayed as a great debtor.

Also, Amope teaches people the importance of working hard. Amope,
Chume’s wife earns a living by doing business. She sells a velvet cap to
Brother Jero. She also takes care of her family because Chume earns very
little from his work as a messenger. For that reason, Amope suggests that
woman should support their husbands.

From Chume, one learns that, we should be careful with the advice we
receive as it may affect us. Brother Jero advises Chume to beat his wife and
he does so without knowing the conflict behind Brother Jero and Amope,
Chume’s wife. Brother Jero owes Amope one pound, eight and nine and he
is reluctant to pay. To silence her, he advises her husband to beat her.

The Old Prophet similarly teaches us that the person you trust the most can
betray you. Old Prophet is betrayed by Brother Jero despite being Brother
Jero’s old tutor. Old prophet mentored him to become a prophet but Brother
Jero later turns against him by driving him away from his piece of land,
where Old prophet had built a church. This shows that we can trust people
and help them but still they can betray us.

In “The Dilemma of a Ghost’ by Chistina Ama Ata Aidoo, the proposed
lessons from characters include the following:

Ato, teaches us that, we should use our education to solve challenges
existing in society. Ato is an educated character. He gets his education
from America but he fails to use it to solve disputes between his family and
his wife. He is on dilemma because he fails to advise whether to live in
Africa or go back to America with his wife. He even slaps Eulalie claiming
that she has insulted his people. In this context, Ato is supposed to act as a
bridge between his wife and his family and the society at large on the
cultural differences that cause conflicts.
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Eulalie also teaches us that we should not despise and abuse other people’s
culture. Eulalie despises African culture. She abuses African people by
calling them names like bastard and narrow-minded savages. She also
refers to Africa as a rotten land. Such an attitude becomes a source of
conflict and her dilemma in Africa.

Esikom gives us a lesson that, women should work hard to take care of
their families and bring about development. Esikom is Ato’s mother, who is
portrayed as a poor person but she works hard so as to take her son, Ato to
school. Esikom says, “My knees are callous with bending before the rich”.
This shows that she has worked hard for her son to go to school for quite
long.

We also learn from Nana that we should be ready to accept intermarriage
with other people beyond our cultural borders. The quotation: “My spirit
mother ought to have come for me earlier. Now what shall I tell them who
are gone? My grandchild has gone and brought home the offspring of
slaves” shows that Nana is still living in an enclosure where individuals are
limited by ethnic borders. In this context, Nana does not have to complain
about Ato bringing in her family an African-American wife. Rather, she has
to accept it as part of human interaction. A sample of the correct responses
to this question is illustrated in Extract 11.1 below:
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Extract 11.1: A Sample of Correct Responses to Question 11

There were also candidates who scored average marks on this question. The
scores of such candidates ranged from 4.5 to 9 marks, out of 15. These
candidates tried to explain the lessons learnt from the plays but they did not
clearly show the characters who convey those lessons. Whilst, other
candidates stated the characters from plays but they did not suggest the
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lessons they (characters) convey. Logically and according to the question,
they were supposed to identify a character then a lesson he/she conveys.
Therefore, the performance of these candidates was average because they
correctly answered a part of the question and failed to answer correctly the
other part of it. Furthermore, some candidates failed to introduce and
conclude their essays credibly, while others made reference to novels
instead of plays which was contrary to the question’s instruction. Extra 11.2
is a sample response by a candidate who got average scores on this
question.
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Extract 11.2: A Sample of Average Responses to Question 11 from a
Candidate with Average Performance

Besides, there were candidates who scored low marks in this question.
They scored 0 to 4 marks out of 15. This performance was regarded to be
weak in this analysis. The candidates failed to respond correctly to this
question because they failed to understand it. Some of them used irrelevant
reference readings to attempt the question. For instance, one candidate used
the plays, ‘This Time Tomorrow’ and ‘Three Suitors One Husband’ which
are supposed to be used in the English Language subject. In addition, some
candidates responded to the question by discussing issues in the plays while
others wrote question numbers and the introductions and left the other parts
of the question. Extract 11.3 displays a sample of responses from a
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candidate who explained themes/issues without introducing/stating
reference readings and showing how characters provide lessons to the

readers.
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Extract 11.3: A Sample of Incorrect Responses to Question 11
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2.0

3.0

PERFORMANCE OF CANDIDATES ON EACH TOPIC

In the CSEE, 2023 Literature in English examination, candidates were
assessed in six topics as stipulated in the syllabus. These were, Introduction
to Literature, Oral Literature, Written Literature, Reading and
Appreciating Plays, Reading and Appreciating Novels and Reading and
Appreciating Poetry. The analysis of the candidates’ performance on each
topic reveals that 72.53 per cent passed in Introduction to Literature which
was tested in questions 1, 2 and 7. It was noted that 33.06 per cent passed in
Oral Literature which was tested in questions 4 and 6. Also, 65.21 per cent
passed in Written Literature topic which was assessed in questions 5 and 8.
Similarly, in the topic, Reading and Appreciating Plays, which was tested
in question 11, the candidates passed by 65.21 Additionally, 22.05 per cent
of candidates passed in the topic, Reading and Appreciating Poetry which
was tested in questions 3 and 9. The analysis further shows that 31.88 per
cent passed in Reading and Appreciating Novels which was tested in
question 10.

CONCLUSION

The analysis of the candidates’ performance in the 024 Literature in
English subject in the 2023 CSEE shows that the performance was good
because 79.34 per cent of candidates passed the examination with A, B, C
and D grades. Performance per topic indicates that the Introduction to
literature was performed well by 30.56 per cent of the candidates.
However, the candidates had some difficulties in Reading and appreciating
poetry since only 3.75 per cent passed.

The analysis generally shows that there were candidates who performed
well as they wrote their responses using the language appropriately and
they managed to show good mastery of the competences which were tested.
Their knowledge enabled them to understand the questions and they
responded to them accordingly. However, the responses to essay-type
questions were a challenge to some candidates because they misinterpreted
the questions. Due to their insufficient knowledge of the subject matter,
they had average performance.

Lack of good English Language command also made some candidates fail
to read and comprehend the questions. Consequently, they gave incorrect
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4.0

and ungrammatical responses to the questions they attempted. Some
candidates failed to present their ideas coherently even after they had read
and understood the questions. Strange enough, some of the candidates
wrote their responses/answers using Kiswahili Language. Thus, lack of
adequate subject content and ability to express themselves correctly in a
good comprehensible English made some candidates to provide incorrect
responses to the items tested in this examination, hence, they scored low
marks. The kind of responses demonstrated by different candidates show
that there are areas that need improvement in instruction and techniques of
responding to examination questions.

RECOMMENDATIONS

In order to improve candidates’ performance in the 024 Literature in
English subject in the future, the following recommendations are worth
making.

(1)  Teachers are advised to teach this subject using student-centered
methods. Learners should be assigned to read literary texts
independently, recite and compose poems and perform plays. This
will equip students with language use skills and understanding of the
reality of their societies. This is recommended because the quality of
responses provided showed that candidates had not fully mastered
analysis of literary works.

(i) Teachers and school administrators are advised to insist students’ to
use English Language for communication throughout school time.
This will help improving language skills, namely; reading, speaking,
listening and writing. These skills appear to be lacking among some
learners. English Language mastery can help students to have ability
to express themselves when responding to examination questions.

(iii)  Since some candidates referred to literary readings which are not
recommended for Literature in English subject, teachers are advised
to inform and insist students about using only the relevant
recommended plays, novels and poems in this subject.
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Appendix

A Summary of the Candidates’ Performance by Topic in the 2023
CSEE

S/N Topics Questions | Percentage | Remarks

1 | Introduction to Literature | 1,2 &7

2 | Written Literature 5&38

3 | Oral Literature 4&6 33.06 Average

4 | Reading and 10 31.88 Average
Appreciating Novels

5 | Reading and 11
Appreciating Plays

6 | Reading and 3&9
Appreciating Poetry
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